/ fig Wt DINBIEINO 2 NAME | mistake
/ NO4 1T vidx®2RICHHTZHES
M| vyiZxD2FICHAIL,x=2,y =12Th 5, fE6 | yiZxD2RICHHAL,x=3,y=—3Th 2.
OHpBlE Sz KD &, OHAIESZ KD KL,
@y % x DR THH, @y % x DR THA,

@x=—3DLEDy DEEKD &,

@Dy=30LEDOxDfEERD L,

2 | yidxD2FIIHAIL,x =4,y =—8TbH 5,

OeplES % KD X,
@y & x DX THEHE,
Bx=—10+LtExDy DEERD X,

@Dy =—18D L xDx DfEZERD K,

fEE S | v IExD 2 FIZHMBIL, x =3,y =—18Th 5,

OLflES E KD X,
@y & x DX TEYE,
@x=—5DLxDy D%k L,

Dy=—8DLETDOx DfEZRD X,

M4 | yIExD 2FIZHAIL,x =3, y=6Td 5,

OepBlES =KD X,
@y & x DX THEE,
Bx=—6D+LtEXDy DEAERD X,

@y =120t XD x Dz KD X,

RIES |y IEx D 2FIZHPIL, x=1,y=—1Th 5%,

Ox=40LEDy DEZRD X,

Qy=—25D L XD x DfEZERD K,

@Dx=20LxDyDExkH X,

@Wy=—9DLXDxDEZERD X,

B 7|y i x D2 F|IZHHIL,x =4,y =24TH 5,

OplE Sz R &,

@ Yy %‘: X O)iﬁ‘@%’@_‘o

@x=—20LxDy DEZRD L,

@Dy=6DLxDx DEERD L,

MRES | y IExD2 RICHAIL, x =2,y =—4TH D,

OLFIERZ KD &,

@y & x DA TEYE,

Bx=—3D+LtExDy DEERD X,

@Dy =—49D L E D x DEZERD X,

MREY | v IFxD2RICHAIL,x =1,y =4TdH D,

Ol R &,

@y & x DA TEE,

@x=—3DLXTDyDEERD X,

@Dy =200 L =D x DIz KD L,

MEELI0| vIiZxD2RIIHAIL,x=6,y=—9Thb D,

DODx=—20L XDy DfEZERD X,

Qy=—20LxDOxDEZKD L,




